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HOARICARDAEE WA WHOABEHLTWET,
(Bfir: M)
FHE KA FREH | FHEH FE KA e | TS
1 [#62 =) R O|HERE 15,000| | 31 |#CA =B K’ |RRE 13,000
2 |B4N B— R [KRERAT 11,000| | 32 |=H 5= R |REHT 25,000
3 IRE P HF R |3RER 13,000 33 B = B |dtmE 14,000
4 |55 E) B |BEE 20,000| | 34 |LuF 87 R |BEHMR 22,000
5 |AHY 73 N1 13,000 | 35 |B& R, R |BERER 8,000
6 |29 B R | REHT 17,000| | 36 |43 = = EEESIE 14,000
7 |8 B B | RART 22,000] | 37 =K pL bR 35,000
8 |AHT B kR |EER 13,000 | 38 |##B -V B O|TFER 13,000
9 |uA =& R |ERIE 8,000( | 39 |+H wmA £’ |REHT 36,000
10 [/INE B R |EHERE 8,000| | 40 |[tE4 A& B & |duEE 10,000
11 [AMH =3I | EIE 11,000| | 41 |#&K GIN B’ | KBRAT 11,000
12 | B A E3 B |EER 10,000| | 42 |&& ENX B’ |ERES 13,000
13|& =M = N1 60,000( | 43 |52 BEF &K |[EEER 17,000
14 | F % g = EESN 22,000( | 44 |#E4 K = B’ | KBRAT 31,000
15 | BAS & B LAl 13,000| | 45 |#CA =B K |RRE 13,000
16 181 Ea | EER 30,000| | 46 |%&R S K |B/ER 8,000
17 |32 BE—R kR [FERR 8,000| | 47 |Z5fE 1E— | TER 12,000
18 |EY =157 k(LA R 13,000| | 48 |=viE ) R |ER)IIE 11,000
19 | 2R XF | BME 20,000| | 49 |&A&t b B |#Z)IE | 300,000
20 1L =N B |iBER 15,000 | 50 |& =& B | AR RT 13,000
21 |5 Ea:d RS 30,000| | 51 |&H 1 R |EEE 10,000
22 |18k JE B |BINE 13,000 | 52 |fHEE e R | EER 15,000
23 | EBR E+E & |[LBR 13,000 | 53 |—/ % 1E B’ | KBRAF 25,000
24 F RA BB 48,000| | 54 |FEMA ®"= B’ |ERED 300,000
25 |f&JR 28 kR |[fEEE 20,000( | 55 |k& Za K’ |LBE 12,000
26—/ % 1E Bk [KRERAT 33,000 | 56 |F9& EBS R [#HRIE 26,000
27 |Rose Simon  # [ERAT 14,000| | 57 |EA s £’ |REHT 11,000
28 |1k BT B |ERRE 10,000| | 58 |MAEH Bk B’ |ERED 50,000
29 |EH = £k |[REE 13,000 | 59 |=)II ) R [EER 30,000
30 | F0le &R B |HERE 13,000 | 60 |FH BF B’ | KBRAF 100,000
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(Bfi : /1)
FHEKS FREH | FHEH
61 |4t S 1R |KBRAT 500,000
62 [328F HF £ |[dtEE 10,000




